FHREN NO.12

[Fa 7 SR DFER]
KK 7R LBEZ6NTVWEET 5, G=Gal(L/K) DERDHEE H 128 LT,

FH)={r € L;gx=z(Vg € H)}= L")
YEHRT D, L ¥ K OFREIEK M kLT,
(M) ={g € G;g.x = x(Vz € M) }(= Gal(L/M))
YIERT D, ZORE, RO MDD, (HFARAM)
(1) G DIEEDERTHE Hy, Hy 1ZXT LT,
H, C Hy = F(H,) D F(H>).
(2) L/K OEEDOHREIAR My, My 12X LT,
M, C My = G(M;) D G(M,).
(3) G DIEEDERDHE H 12720 LT,
S(F(H)) > H.
(4) L/K OEEOHRMAE M 20 LT,
F(S(M)) > M.
Fid. LD (1)-(4) 26, BLIEANLEHETROZ LD DT b5,
(73 [\=1[=]")
(1) G DEEDERTEE H 12720 LT,
F(S(F(H))) = F(H).
(2) L/K OEEOH A M 20 LT,
S(F(S(M))) = G(M).
a7 HERTIE, IHIRDI B NhDb, (PRFEHEFARD M)
(1) G DIERDERTAE Hy, Hy 1K LT,
H, C Hy,F(H,) = F(H,) = H, = H,

(i 9.212 &k %, )
(2) L/K OEZEOHREME My, My 120 LT,

M, C M, G(M,) = §(My) = M, = M.
(Fa7oFERLs, )
Db, RERIIRDZENTH1D,
(772 IE]:O IE]M)
(1) G DEEDERDEE H IZ/2wL T,
S(F(H))
(2) L/K OEZEOHREIE M I LT,
F(G(M)) =M.

H.



